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clear all;
clc;

m = 1;

omegal = 1;

beta = .1;

A = - (sqgrt (beta”2-omegal0”2) + beta)/2*sqgrt (beta”2-omegal”2) ;
B = - (sqrt (beta”2-omegal0”2) - beta)/2*sqrt (beta”2-omegal”2) ;
t = [0:.001:20];
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for n=1l:size(t,2)

for initial conditions:
1 and v(0) =0

x(n) = exp(-beta*t (n))* (A*exp (sqrt (beta”2-omega0”2) *t (n)) +B*exp (-sqrt (beta”2-«¢

omegal”™2)*t(n)));

vi(n) = exp(—beta*t(n))*(A*(sqrt(betaA2—omega0A2)—beta)*exp(sqrt(betaA2—omegaOA2)*tf

(n) ) -B* (sgrt (beta”2-omegal0"2) tbeta) *exp (-sqgrt (beta”2-omegal”2) *t (n)));

E(n) = 1/2*m*v(n)."2 + 1/2*m*omega0"2*x(n) ."2;
Eloss (n) = -2*beta*m*v(n)."2;

end

plot(t,x,t,v,t,E,t,Eloss)
grid on



